—L]

1.

Which states were removed from the Rajputana

Agency and placed under Gujafat Agency in

February 19487
(A) Palanpur

(B) Dungarpur
(C) Sirohi

(D) Vijaynagar

Select the correct answer -

(1) (A),(B)and (C)  (2) (A)and (B)

() (A), (©)and (D) (4) (B), (C)and (D)
(5) Question not attempted

Which political agent’s slit head was hung on the -

Fort of Auwa by the rebels of 18577

(1) Major Burton (2) Major Showers
(3) Col. Eden
(5) Question not attempted

In which Fort the highest part was used for Royal

palace, the lowest part for reservoirs and the flat
part was kept safe for agriculture?

(1) Jaisalmer Fort (2) Nagaur Fort "~

(3) Gagron Fort (4) Kumbbhalgarh Fort
(5) Question not attempted 4 ;
Who is the author of the book named. ‘Unhappy

India’?
(1) Lala Lajpat Rai . (2) JL. Nehru

(3) L. Fisher (4) M. Brecher -
(5) Question not attempted -

. Which of the following are the features of the

unique sculpture in the temple of Ranakpur?

(A) The weak figures of women have been
depicted here with priority.

(B) Demonstration’ of various postures in
female statucs through fine carving.

(©) Equ151te floral motifs, a hallmark of
Gujaratl art and tradition,

(D) Thereare no depictions of weapons in the
statug§ here.
Select the cox;ect answer -
(1) (A), (C) and( D) .
(3) (B), (C) and (D)
(5) Question not attempt®

(4) (A), (B)and (D)

@ A, B ana 0y Ty

2.

(1) (A), (B) 3R (C)

@ (A)IRB) KN

(3) (A), (C) 3R (D) 4 (B), (C) 3R (D)

(5) araRa T

1857$ﬁa#%u‘r§mfammﬁvxﬁwqﬁzm

- WWW%%WWWW&T’P

(4) Capt. Monck Mason e,

(1) FoR T - (2) Ao dia"
@) e e WL AE AE T
(5) srgaIRa e '

W%ﬁmﬁmwmw
m%maﬁwnﬁaﬁqwmﬁ

| v @ forg gRfe <@

4,

(1) SRTerR &7 fper  (2) AWIR &1 faem
(3) TR 1 e L4y BoierTe 1 e
(5) srgailRd W

R R Wgﬁﬁ?zﬁmaﬁ?%?
(1) e e X (2) ST TS

() o, feR

(5)a§ﬂﬁﬁ§rs=r .
R B AR § A T e qeorwe a1
frifted § R PR faLivand ¥?

(A) TR Y g st w1 Agr weifed

W S W R

B) R il ¥ gen qeror ¥ R gam
BT WS |

(C) 5T I SpRY, WY ORI el S
TRURT 6 U89 & |

(D) T B ufewel § orE—wrel b1 AE
el

Fol IR BT T PY —

(1) (A), (C) 3R (D) 42)/ A), (B) 3R (C)

3) (B), ©3IRDY, @ (A), (B IROIN

(5) 3r<ING UeA

Gw  Answer KeyClick Here
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6. Raj

aJa Man Singh as the Subedar of Bihar led his
first expedition against which ruler of Bihar?

(1) Sayyids of Shambhupuri

(2) Raja Puranmal of Gidhaur

() Raja Ganpat of Hazipur

(4) Sangram Singh of Khadagpur
(5) Question not attempted

* Which statements are not correct in the context

of Govindgiri and his Bhagat Movement?

(A) Govindgiri participated  in ' the
Non-Cooperation Movement in
Panchmahal district.during 1921-22.

(B)  After his release from Ahmedabad Central
Prison, Govindgiri remained in exile at

_Barsod in Panchmahal till death.

(C)  Under the influence of Govindgiri, Bhagat

Bhils of Banswara organised themselves
within the framework of HlIldUlSIIl..
(D) N. Bhattacharya the Dewan of Banswara

suppressed Bhagat Movement durmg
1927-1931. 7

Select the correct answer -

(1) (B) and (D) ~ (2) (A)and (C) |
(3) (C)and (D) (4) (A)and (B) |
(5) Question not attempted

- ‘Which text among the following is not wntten by

Dr. Ambedkar? _

(1) The Annihilation of Caste

(2) The Buddha and His Dhamma

(3) The Nadars of Tamilnad )

(4) Revolution and Counter Revolution in
Ancient India

(5) Question not attempted ‘

. Select the incorrect statement with reference to

Gupta’s architecture -

(1) The roof of the Vishnu temple of Eran is flat.

(2) The Dashavatara temple at Deogarh present@""‘“"

the ornate Gupta style architecture with ol
high Shikhara.

(3) The Bhumra temple is dedicated to Lord
Vishnu.

(4) The Parvati temple of Nachna Kuthara is
built in Chaitya style.

(5) Question not attempted

(O MRERR B g ) araarst @

(8) argaRe we |

T
M &

3
2 ﬁmzﬁv@ma&mzﬁwm%ﬁ“’

o iR fER @ b e @
() s & dag

(2) fﬁ@}va‘wwm\/@

@) weTR @ duH Rig
(5) srgaRa ueA

L

DI B GE) TE ¥

(A) 192122~3fu?rtre?»f'Fsr@rﬁf“”ﬁ'zﬁ?r
| mmwﬁwﬁmméﬁﬁaﬂ

(B) Wﬁwm@

B - R o qz“
aﬂﬂ‘ﬁ{ﬁﬁai'ﬂ:rﬁvél mm

_-ﬁmmﬁ@gaﬁzﬁaﬂm@“m
- fora |

(D) 192791931 % r;wzrmerr@’rzﬁaﬁmﬂ

T Wﬁwmﬁm'

e 9TR DI 94T BT —
- (1) (B) 3R (D) - @ (A)aﬂ‘\'(C)
3 (©)3RD) \(M)aﬁv(B)
~ (5) SrgaRa g 0 ‘
- ffefRag & @ @=ET er =% GT‘%W ERI
- &Y foram T {7 |

(ﬂ‘eﬂ?’i’l%ﬁ?ﬁaﬂcﬁm
(Z)a'gqef%maw\-/
() T AeY % dffies -

(Mﬁa‘lmgmmmﬁa‘lamngm
(5)34§?fﬁﬁl;ﬁ?l

: Wﬂw?ﬁﬂﬁﬁﬁmmﬁ

(ﬂwzr‘)ﬁmgqﬁ?ﬁwmg\[
(2 qae # cumaaR WRR SNy &
eI T Al B AT oy w‘"

(a)wwﬁ?wmﬁ&gaﬁw?m%I

\wﬁwwwqﬁﬁ’lqﬁ?%

....

oo
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10. During the reign of which Sultan of Delhi
Sultanate,

himself at Ranthamtyope?
(1) Qutubuddin Aibak (2) Iiutmish

(3) Balban (4) Nasiruddin
. Mahmud
(5) Question not attempted |

In ﬂfe Inscriptions of the Pratihars, the state
officials were called -

(1) Rajpurusha (2 Samanf -
(3) Darbari (4) Mantri -
(5) Question not attempted

11.

3

12.
‘Avatar oflakshmanp ?
(1) Pabuji (2) Hadbu_]l
3) Ramdevji 4) GOgajl
(5) Questmn not attempted -

13. Which among the following archaelogu:al sites

is not related to ‘Ahar Culture ?

Govindraj of Ajmer established |

Who among the following ‘Lok Devta is called

1‘0.WW%WW$W#’W

SR & RT3 vad B R et 1
far? |
o ) gggd ee - (2) segafte
) T (Ma@vawﬂ'a'a:q'
. (8 argaRa g
. JRER & afverdl §, NeaReRdl B BE
ST o1 —
: - (1) ITgHY %ﬂvﬁf 33
@) g @) W |
C(8) srgaRa g

12%%1%131}[%%@&%%1‘@1

e BT AR BT, ST 27
g (@ seTh
(3) st (@ TS
(5) argeRal e

'13 frfoRad § § BT Raas W g
Al W WAl T ¥

(1) Pind (2) Gilund g (1) TUS 2) firge
(3) Alod @ Baror ﬁf Eeid @) WK
(5) Question not attempted el (5) 313?@?[ U '
14. Which of the following facts about Lucknow in 14 1857 & UM wWdIAI WUM #, TREMS B 459
the first War of Independence of 1857, is false? ¥ 5 qedl § | DI o 27

(1) The defeated British took refuge in Begum
Hazrat Mahal’s palace for self défenc_e’.

(2) It started in Lucknow on 30" May 1857.

(3) Birjis Qadr was declared the ‘Wah of
Lucknow’ in the early August 1857,

(4) The British were defeated in the Bgttle of
Chinhat.on 30" June 1857.

(5) Question not attempted

i sel 3 ot el @ fw
| TR WEA $ oTEd | IRV &l |
mmﬁsﬂaﬁgﬁmso@lswﬁg@
(3) 3T, 1857 & WRW ¥ fRR™ wx @
IS @ aell B e R ey
- (4 30 57 1857 @1 fortee @ g A o
- wRIfT gw e
(5) IR wem
15 WEROT B 9 fEifea § ¥ o um

15. Which of the following villages were granted for ;
the manl;gement and worship of Eklmg]l by m:ﬁ T TR 9 IS O Rl ¥ WA
Maharana Kumbha? ; - {
(1) Ahar, Kalyanpur, Jagat &Kankroh (1) args, DRV, T 3R BipRIeh
(2) Anand, Kavita, Gogunda&Mavh (2) arrie, wfar, Tﬁ‘:ﬁT IR e
(3) Nadol, Dhulev, Ranakpur & Naulai (3) ST, Yol RO oK e
4 Nagda, Kaloda, Malakheda & Bhimana | NG, a’ﬂ(_‘h@T W@T AR T
(5) Question not attempted (5) 3Fﬁlﬁ’ﬂ R
Ay Ansvver Kiey Click Here

e
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16.

17.

18.

19.

20.

In a certain code language ‘GERMINATION®
iIs coded as ‘IMGRENNOAIT’
‘ESTABLISHED’ is coded
‘BAETSLDEIHS’ then in the same code
language ‘MATHEMATICS’ is coded- as -

(1) EHMTAMSCTIA (2) EHTMAMSCAIT

(3) EHMTAMSCAIT (4 EHMTAMSCIAT

(5) Question not attempted |

and

as

If o B are the zeroes of the polynomial
f(x) = 2x2 + 5X + k and satisfies the relation.
a?+B2= % - af, then the value of kis-
M 3 @ e

® -3 @ 2

(5) Question not attempted C
Three dlStrlbllthIlS A, B, C are as follows g

A 2,3,7,1,3,2,3
B: 7,5,9,12,5,3,8
C:. 4,4,11,7,2,3,4 )
Which one of the followmg statement is correct"l
(1) Mean of C = Mediar of B )

(2) Mean, Median and Mode of A are equal

(3) Mean of A = Mode of C

 (4) Median of B = Mode of A

(5) Question not attempted

If the zeroes of the polynormal x2 + (a+1) X+ b
are 2 and -3, then -

(1) a=2,b=—6 (2) a=0,b=-6
(3) a=-2,b=-1 (4) a=0,b=-1 :_':
(5) Question not attempted (il

Data 6, 7, x-2, x, 18, 20 are written in ascénding
order. If median of these data is 16, then x is

equal to -
() 11 (2 13
(3 15 4 17

(5) Question not attempted

17.

18.

19.

20.

(8) arg=iRe weA £,
AT o,  TEUT f(x) = 25> +5x+1€,‘>
amm?aawz_f-aﬁﬂv’f
A kBT AT B —
M3

3 -3

(5) maﬁﬁam?f

A i 3_7 1,3,2,3
B: 7,5,9,12,5,3,8
C: 4,4,11,7,2,3,4

@ AT e, mmaﬁ?agm‘
() A%T Ay = CHT §gAD .. -
(4) B Y Wl = AT Hga?ﬁ At
(5)31§?rﬁam=f Y
?Tfﬁil"gq?{x +(a+1)x+b‘c}\33m

gL A -
(1) a=2,b=-6
(3) a=-2,b=-1
(5) argiRe weA
affeet 6,7, x-2, x, 18, 20 @Y
T R AR g Aiwst W oy
XERMER & —
M 11
@) 15
(5) srgaiRer we

OT-#
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21. If the area of one foce of a cube is 1.5 times of 21 If} T & TF Held BT &=, S Herd 3

the perimeter of that foee (in value), then the aRETT T 1.5 & (A #), A1 & BT

volume of the cube jg _ ®

1 )

(1) 216 "“ft (2) 144 unit - (1) 216 5T () 144 50T

(3) 512 ot (4) 312 unit 4] @) 512 507 (4) 31251

(5) Question not attempted : (5) eﬂfﬁﬁﬂ U |

22! & Cids o | | |

If x = 7+Vv40, then absolute value of 1 [\&-ix] 2 aft x=7+V30 &, @ l[\/)?-i] P1 - frede

. 2 VX ! 2 Vvx

is - LI .

: | :

1) 5 @ 3 : - , M V8§ @ vz

@ 2 @ s = 3) 2 (#) 245

(8) Question not attempted Bt | (5) araRa we |

23. A white coloured cube is painted red on all its 2. Q?ﬁ W 1 T BN el B oA

surfaces. Now it is cut into 125 smaller cubes of o e 2| 39 I A AHR ® 125 BIe
| the same size. How many cubes will have two | A1 § BreT ST %\I fahe EFﬁ Gl H’f SEERCIC
‘ faces painted red? - S O T
| (1) 36 ale g 036

(2 12 ‘ ‘ 2 12
l (3) 24 . A . (3 24
| (4) 48 : : (4) 48 -

(5) Question not attempted : - srgaRa g

24. Twelve solid spheres of the same size are made 24. TP SIN ©1Y & SO BT ANR @A 2 JA, qen
 HErE 16 AL B, B Naarex w\E aeR @

12 3 Mol TR R & | T ey T

by melting a solid metallic cylinder of:base
diameter 2 cm and height 16 cm. The diameter

; of each sphere is - gt g
| (1) 4cm (2) 1cm o (1) 4, @ 19
(3) 2cm @) 3cm _ (3) 29, @) 3],
(5) 3rg<IRe wed

(5) Question not attempted

25. The radiﬁs and slant height of a right circular
4:7, If its curved surfabe

25, g g Ui o P ok Rt S
Igud 47 | AR TR 9 ySW SEma
7929 WAL B, o sHH B & -

cone are in the ratio of

5= s 22
area is 792 cm?, then its radius is — (Use 75'— > ). | (§= _2;2_ 7y Wi’)
() 6cm (2 em (1) 69 (2 9w,
() 3cm (4).12emi g8 (3) 3 @) 1299,

5
(5) Question not attempted (5) STIRT weqy

ohe  Answer KP@y €lick Here
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TN

T T “‘"*53%3}1"::{,; fgx By

) TSI = VT + I | 2 W=@+W
EOTRERR = B e @ amm—am e o
(5) aﬁﬁﬁﬁw | i E
A”-ﬁm%ﬂ@ﬁﬁﬁﬂ%’rﬁaﬁm—w%— ;
) wT— g PLE " o it -
' | (€)

@) FRt — et

(3 IR — I :
(6) AR ww Lok ' | | | :s
2. Frerferier % & oty & P - e
W~ F1og
R
(5) IrgmRkda U
30. ﬁmﬁf@aﬁq}dﬁvﬁmﬁ@ﬂﬁ?ﬁwa%ﬁ@ﬁﬂﬁ?&ﬁmﬁwg;" i 63 2
| @ Confiscation— ey

@ s @Foﬂﬁ %

(4) #FE

(1) Constituent — HEeH L
-'!_"""'——'-——‘- oy

(3) Consistency — wufy (4)  Conservation — TiRET

(5) IgaRd T

op; = . PapE T oE2 \
" Answer K&/ Click Here
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34.

'1
1
n_

31.

32.

33.

35.

/ ="
AL S LS e

o SUSEER G LT B AR
(B S B e

Choose the correct prepositions to fill in the blarks -

The forest department has planted trees ................... ;the 3 (1 [-TUPPUPPPPPPPPPPPPPTLY all highwayS‘-
(1Y along, of (& at, irb'.
(3) on, by b (45 to, across
(5) Question not attempted |
Choose the correct Antonym of obtuse.
(1) - perfect | I @ ful
(3) intelligent . ' (4) round
(5) Question not attempted
Choose the éorrect translation of the phrase given - -
‘Absolve from liability’ . _ K _ :
o wRedt B I ‘(2)'mﬁar#gﬁs
@ wef ¥ e Kb M7 vt RRe
(5) Question not attefnpted i |
Select a éuitable deternﬁner.to fill in the l')llank =
I've written to .............. candidates who have registered for the post.
'(1 )  more LESD 1T 3 ‘ (2 every
'\-(3/ each @l

(5)  Question not attempted
Select the correct form of the tense from the verbs given in the brackets -

Very unwillingly he (turn) down the sound of the TV and (g0) to answer the door bell.

(1) turned, went «_{2"turning, went

(3)  turneg, g0 (4) turns, go

(5)  Question not attempted

of % AnSy

swer Key-Cli ck Here——+—

) ;
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36. . Under Rajasthan Budget 2025-26 to take the 36. ISReIA Fwie 2025-26 P I
state further ahead in the field of renewable Fort @ &5 N R o o o B ﬁ,rq M
energy, how much ener
the jrfvate sector is propizecli) l;zdslligo:; ::;0;:2‘: i SIS 202096 A W'?
2025-267 | URA far e Rafaa 87 .
(1) 10 GW @ 100 GW (1 10GwW 2) 100 GW
(3) 1GW (4) 100 MW (3) IGW 4) 100 MW
(5) Question not attempted (5) rgaRa e
37. Which faculty member of which institute of —37- 99 2025 @ forg W RIS ﬁ?ﬂq M
~ Rajasthan has been awarded the INSA Associate (METATaT) gRT IR & fBd '\‘T‘[@Tﬁ
Fellowship (IAF) by the Indian National Science! - e W™ dae@ o g I ¥l
Academy (INSA) for the year 2025 forQ his . Fag@l:l?v[ Q& Tore R 9 Gl S 4
outstanding ~ research  contribution  in S M AreH $ fog INSA @W
understanding the neuronal protein quality - Beldd (IAF) T [RER A%t
control mechanisms in - neurodegengrativé (1) R - w9, SR @
diseases? | Sy o EhgaRars o
(1) Dr. Sucharita Dey, .Ind'ian ~Institute. of " (2) sﬂ%;?r Qﬂ?{-ﬁa CIRIEEIE] GR’@JFT Tﬂﬁﬂﬂ'\' P
Technology, Jodhpur ‘ g8 gT WQ’H UGI]
(2) Dr. S.S. Agarwal, AIIMS, Jodhpur : (3) aRaer WRAG angﬁ—srr«r eI, SR o
(3) Dr. Kuldeep Singh, ATIMS, Jodhpur 3. merd Rig
(4) Prof. Amit Mishra, Indlan Instltute of (4) IR oenfier e, ryﬂa-g-\r >
Technology, Jodhpur | ; = oY, i fas
(5) Question not attempted | () eﬂﬂﬂﬁﬂ' e
38. Consider the following statements about | 38 'S o B 'sﬂ? § forfrR FE R ﬁiﬂ?
“Ajoo Gooja’ - ; " e ! B —
(i) ‘Ajoo GobJa cthdren s festival was held () ‘ame e ResT BReTa 2223 WAy
on February 22-23, 2025, in Bikaner of 2025 @1 ORAE B BER F S
Rajasthan. ﬁh’qT RIR I
(ii) The ‘Ajoo Gooja' children’s festival was (i) ‘S I Rreg DR @y 3"%
organized by the Rajasthani Language, RTOTRRAT 4THT, wifes SR m
Literature and Culture Academy. g1 fan |
Which of the statement/s given aboye ijs/are R 3T T HUA/ ol § | ﬂﬁm /X
correct? ' v L B/8 “‘E’ﬁ,
(1) @) only (2) Both (i) and (ii) (1) (i) et @ () she (i)
(3) (ii) only (4) Neither (i) nor (ii) (3) (ii)'W_ @ 7T [ @) 7 8
(5) Question not attempted (5) argRIRe wee alogtl : (i)
A nsvver R%S’/‘"CI ckHere T

71 o
Il %

,4..
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39 Consider the following statements —

i In  March 2025, Professor Abhay
Karandikar took over the charge of the
CEO of *Anusandhan National Research
Foundation’ (ANRF).

(i) ANRF will act as an apex body to give
high-level Strategic suggestions regarding

scientific research in the country as per
recommendations  of  the

Education Policy (NEP).

National

Which of the statement/s given above 1slare
correct?

(1) Both (i) and (ii) (2) Néither (1) nor (ii)

30. ﬁﬂ%@ﬁfﬁﬂ:ﬁqywﬁﬂ

C @

()G 8iR (n)a’m‘r

aet 2025 # WHER I i

p— SR G IO
-m%)w@mmmm'
) e g e AR (@) @
Rt @ ek 2 ¥ D AT

a%wﬁﬁﬁaawrrﬁﬁww?ﬁ

& forg T ¥ (erv) From @ @

HTf HEM|
wﬁvwﬁm/fﬁw’#@m/ﬁm

B8 ‘ :
(@ T @ @)FCE )

(3 @) only @ (ii) only @) () dae @ (ii)_zﬁﬂﬁ_ »
(5) Question not attempted . (8) aﬁf?ﬁ g
40. Who was sworn in as the Prime Mlmster of 40. H, 2025 ¥ ﬁv_\ef HeITST T FUFER B Bu ‘\:'
Canada in March, 2025? 29 e T8 | '
(1) Mark Camey @ Bill Blair 1) e B (2) et @RR
(3 TerryDuguid . (4) Dominic LeBlanc @) 0 s @) e dedis
(®) Question not attempted ' (5). IR e :
41. Which of the following statements is not correct - 41 @?ﬁ SfEar IxT T 2025" % ar # fA=faRad
about “Khelo India Para Games 2025”7 4 AT BT qE T 2 ot
(i) It was the 3" edition of the Khelo India . () TE Qe SRR AT AR BT ST v
_Para Games, held from 20-27 March 2025 ,T’;’.-'i o \—yﬁ 2027 7 2025 TF TE feesht A
in New Delhi. . fﬁ T
(i) The. ‘Snow Leopard” was the Official \(}L} ‘Q:fr RN N
Mascot of the Khelo India Para Games A
2025. MMADBIRG PHBR o |
| (iii) It held events in pafa archery, para (i) T W INah, W w9
,‘ athletics, para badminton, para _a'gﬁ_d—rf L] uraRferfeET, IRy e 3 ﬁ?’[
1 p’owerlifting, para shooting and para table e g @) Ty Y |
| tenns. Ao -
| (f;“’(‘:;i;‘;e:;f:z‘y"f’“"g) g (m) e M D91 O AR (i) @ Daw (i) oiR (i)
@) () and (i) only @ (), (ii) and (i) @ = (I?Gﬁ_{ (i) ) @), (i) 3 (iii)
| (5) .Question not attempted sy o
o ————— M)
% OA. + age-10.0f 24

o

,‘ Answer Key Click Here

¢
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42. On 5 March 2025, the first production lot of 42. 57R} 2025 B afdRer IgyATT B fars 4R

32-bit microprocessors VIKRAM3201 and M AEEERRR! frepH 3201 A

| KAI..PA'NA3201 developed for  space FoUT 3201 & Seared &Y uEel 2 {aﬂ

applications were handed over to ISRO. .

Consider the following statements in context of ?ﬁ‘fﬁ 11‘&‘ I ) : . ﬁﬁ"’" aﬁﬁ’w

these and choose the correct option — | . T el F Freafemem el R :

Statement A - These microprocessors were qor e fawed g — ' .0

designed and developed by PATA - ¥ Wﬂ’!‘\ﬁw w T @

Vikram  Sarabhai  Space Wiy ESR IS e & ﬁ’agm

Centre of ISRO in [ _ famn armg  ofaRe D%

collaboration  with- SCL, ek L ReTeT ol Rt R ar ot |

Soaudisar, Fo B — {53201 wem gofaar
Statement B -  VIKRAM3201 is the first : ; iF—gr—gfear 32-fe

fu.lly “Make—m—Indla”r 32-bit i TR 2|

microprocessor. E ol b : T
Statement C- KALPANA3201 is a FoH C — B30l TH - 32-FC B

32-bit SPARC V8 RISC 918 SRS T30, AP

microprocessor. i (1) =i dUT A, B Gﬁ'\’ C 9B

(1) All the three statements A, B and C are true (2) dad .359;{:[ B3R C 90 &

(2) Only statements B and C are true . (3) Bae BUTA IR B T 5 |

(3) Only statements A and B are true W) e e R C e

(4) Only statements A and C are true ; .

(5) Question not attempted (5) IrgaRa ue '

43. Consider the following statements — 43. fyfeaRad doml R faR & —

(i)  InFebruary 2025, the Ministry of AYUSH G) WS 2025 ¥, ARE AT N ORI
conferred the ‘National Dhanvantari 3 ufrg TS I IR oREe 9ER e
Ayurveda ‘Award’ to Sameer .Govind | SHERT B I TR sy
Jamadagni, a renowned Nadi Vaidya and ‘ e fha| P
author from Rajasthan. Gi) ST U WRG UH, WEm Wﬁﬁ "

(ii) He received a citation, a trophy featuring gferr @l T SO SR 10 . 2
the Statue of lord Dhgnvantari, and a cash | PE IR Ry |

v prize of T 10 Lakh, SR 2w T per /B F N Eﬁ:m'[/-\q e

Which of the statement/s given above is/are 2/

correct? ' . ) (1) (i) Pae (2 9 Q) & &

(1) (i) only (2) Neither (i) nor (ii) B\ i @ Gy s L Au)

(3) (ii) only (9 Both (i and (i) & - KRG

(5) Question not attempted ‘ TR .

oA \

i

)

“Answer Key Click Here

MamdT i N J
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\

44. Consider the follow

, Nuclear power in Unpj

on Budget 2025-26 -
(A Recognizing |,

uclear power as a critical
COmponent fo, achieving energy security
and SUstainability, the Government has

introduceq the Nuclear Energy Mission
~ for Viksit Bharat,

(B) The Government is actively expanding its
nuclear ener

&Y sector by developihg
Bharat Smaj) Reactors (BSRs). BSRs are

440 Mw Pressurized Heavy Water
Reactors (PHWRg

and performance record, -

Select the correct Option - ;. ,
(1) Both the statements (A) and (B) are correct
(2) Only the Statement (A) is correct
(3) Only the statement (B) is correct
(4) Both the statements

(A) and (B) 'ar'e not
correct : T

(5) Question not attempted

* - While replying to the discussion op the Finance

»z4y¢ 20d Appropriation Bill (budget 2025-26) in the
at Rajasthan Legislative Assembly, in which

district did the Chief Minister announce the

construction of a panorama of Sant’ Sadaram Ji
Maharaj?

(1) Barmer

(2) Bharatpur
(3) Jaisalmer

(4) Banswara

(5) Question not attempted

A person standing on the floor of an elevator
drop a coin. The coin reaches the floor of the
elevator in a time t1 when the elevator is
Stationary and in time t; when it is moving with
uniform speed, then -

(1) ti=t,

(2) ti>t,

() The relation between t aqd t2 depends on

Whether lift is moving upward or downward.
@) tic 16)

©) Question pot attempted

45,

46.

26 3 SOl & IR §
ing statements regarding 44 d=Ng qoie 2025-26 H UXHTY

rerfarRa ol TR R B - ¥

3 e 3 g7 WAR A RBRA v

& forg. oy ot e A1 e

g .

WHR qRq @Y Ruaed  (Taam)

s o< afbg v | o wREY
W%mﬁmﬁ@%lﬁ@.ﬁ.

| M0MW B Tam arer w8 o RoaeR

Mrasegar) & Reer @ wfem
GRET 3R e Rt &

T e &1 == AR —

(B)

() BT (A) T (B) 3T wH ¥

(2) DI BT (A) & vﬁ\%
@) DI o (B) & | 2

B D (A) T (B) O W TS Y

) raRa e |

ISR f3eee % e v P fadge

(7€ 2025-26) W =reif %7 v 23 g TR

*ﬁﬁmmﬁﬁawvﬁﬁmmﬁw

TTAN B Heon @
(1) TreiR
(3) Srerer
() I aRa weq -

R RAR
@) ST

E‘lﬁ’r%e’ﬁ‘\rwmﬁ
mwwwﬁwwaﬁﬁ%ﬂﬁ_
M ti=t .

(2) t; >ty

@) naﬁ‘\’tz%‘sﬂaﬁéﬂwmwﬁﬁqm
t 5 e w9

| ST I
DY AR |
(4) t1<ty

(5) Srgaa wem

————— ™

T Answer KeyClick Here

48.

4¢
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Waﬁﬁmﬁﬁwﬁuﬁw@fﬁw

Ansvver K&y

C|ICk Here

47. The substance present in the cells of cork which 47
makes them impervious to gases and water is - & ford e AT @ —
(1) Cellular debris (1) PR Horar (SaRa)
(2) Cutin o
(3) Suberin :3: ﬁ
(4) Lipoprotein @ R
(5) Question not attempted (5) S]'ﬂﬂ‘ﬁa' T3
48. The decomposition of vegetable matter into 48 Wh—wfesral (TRl geg) @ fﬁaﬁ’d o
compost is an~example of - e PURT I SQIE & —
(1) Ectothermic Reaction [ﬁ (‘1) IrEre s At o1
(2) Exothermic Reaction | A2 TR Cﬂﬁﬁh‘&T va‘r
(3) Isothermal Reaction (3) wuard Iffar &
(4) Endothermic Reaction @) TS aﬁﬁb—m L2l
(5) Question not attempted - - ‘(5) aﬂﬁﬁﬁ U
49. A force of constant magnitude is applied ona 49 e PU] W 3R YR 6T T gl e S
particle which is always perpendicular to the 2 Gﬁ FU D IT B ﬁ?ﬂ g ?ﬁﬂT -‘g‘.\| ol
velocity of .the particle. The motion of the & TR @ o %I 3_\”[ TRy H aﬁ?{‘\'ﬂ
particle take place in a plane. Which
/. quantity/quantities will remain constant in this R/ ?TQI'CIT SR BT
motion? | ; (1) & Sﬁ? TR St
(1) Velocity and kinetic energy . (2) 3, @R IR TS St
(2) Velocity, acceleration and Kinetic enefgy 3) S
(3) Only kinetic energy (4) e ER'UT
(4) Only acceleration 0 e s
_ (5) Question not attempted | (5) SrgaRa w=
50. When Hormone Adrenaline is secreted, then - 50- <14 M TSN SAfdd BT ®, qg -
(1) the breathing fate decreases (1) Taw &% HH & o ®
(2) the blood to the digestive system and skin is (2) e o SR @ H BRR Bw gy mﬁ" 3
reduced | (3) gag &R gwP &
(3) the heart beats slowly (4) W afrl R it ENE| DR .
(8) the blood flow in skeletal muscles reduces g
(5) Question not attempted (5) argeiRa W
A g1 or 24 e
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51. MatCh LlSt“I With List-ll and select the COﬂeCt 51. \ _\@—I aﬁ _\flﬂ“ ' 52.

answer by using the code given below the lists-. 1 g W R @ S R “.
List-I i
(Articles) | ﬂ:l_
(A) 326 é‘!&‘ )
| ® 327 - (A) 326
| © 328 | (B) 327
| ®) 329 - (© 328
| © List-IT | (D) 329
| (Contents) .0 mR
‘\ @ Power of Patiament to make provision =g

_ _ (i) ReF—vweel @& forg frafadl & dda #
with respect to elections to Legislatures : R i '
| _ i . IYEY B Bl GEG DI AfAd
(i) Bar to interference by courts in electoral: - i e : ’

‘ ' S B i) Feratas Tl Ael § ATl @ gEy
| | ~ matters - " ' t ' ' ‘ '

{ Ve : L

f - (iii) Elections to the House of the People and to { . .

| (i) Rl (ifi) @ FT 3R At A faue Rl @ fon

the Legislative Assemblies of states to be

g "WWW'W?%»WW'
on the basis of adult suffrage’ g
() Power of Legislatre of a State to make oo p Lo o
provision with respect fo elections to such . @ o ¥ I T B S R
Legislature | " 2 vk
| Code- « » e —
(1) (A)-(iii), (B)-(iv), (C)-(0), (D)- -(ii) (1) (A)-(iii), (B)-(iv), ©)-(), (Dj-(ii)
(2) (A)-(ii), (B)-(3), (O)-(iii), (D)- <(iv) @ QG B)-G), (O)-i), (D)-(iv)
| (3) (A)-(), (B)-Gii), (C)-(V) D)) - SO A0 B, (©)-v), D))
|2 (A, (B)-(), (©)-v), @A) (0 A, (B0, (C-iv), )i
‘, l‘ (5) Question not attemPted’ i e
I QA ‘Page 14 of 24 | =

Ansvver Key Click Here

*,Amwm
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52. Consider the following statements regarding

53.

- (@

- (1)

Union Council of Ministers -

(D A person who is not a member of either
House of Parliament can be zippeinted a
Minister. But if he does not get a seat in
either house within six consecutive months
from the date of his appointment as
Mlmster, he ceases to be a Minister.
However, he can be appointed as Minister

again when he is elected as a member of

Parliament. The Minister has the ‘right to-
attend both the Houses and participate in -

their proceedings but cannot vote in the
House of which he is not a member.

Choose the correct option -

(1) Only (II) is correct. -

(2) Neither (I) nor (H)' is correct. ‘

(3) Both (I) and (II) are correct.

{4) Only (I) is correct.

(5) Question not attempted |

Under which of the following cireumstamces can

the Speaker of the House of the Peeple'Iose his

pos1t10n before completlng the full term? .

@

the People. -

If the House of the People passes a

resolution for the Speaker’s removal by a

majority of the total number of members of

the House present and voting.

(iii)
House.

(iv) If the President dtsrntsses the Speaker

Select the correct option -

(1) (i), (i) and (iii) only (?) (i) and (i) only

3) (i), (ii), (ii) and (iv) (4 (i) only

(5) Question not attempted :

L

04-_-:- |

If he ceases to be a member of the House of -

If the ruling party loses 1ts maJorlty in the,

52,

53.

wﬁﬁzﬂuﬁqﬁmﬁﬁa‘ﬁmﬁ“ﬁf@ﬁ
FUEl W faR HifY —
waﬂémﬁaa&meaﬁﬁeﬁfﬁ;
memﬁ‘@reﬁ#‘oﬁﬁ’!‘ﬁ
ST AT & | wReg Al a8 wA qm
& a1 Praf 7 ardrg & e O
aﬁmﬁeaﬁmmwmﬂm‘m‘
mﬂmﬂmwa’rﬁﬂ'oﬂﬁ'ﬁﬂ;\;
(I amfammzsmﬁ?ﬁaﬁ
,me@tﬁﬂﬁﬁsﬁaﬁwﬁ ﬁﬂn
WW%IWH%M
| wmﬁm%
T8 ey @1 779 BRI —

(1) Baer () FE T

@ Fdr T A FEIE |

@) ()T @) I E
(@) dadt () e B |

(5) aﬂ?rﬁ?rw

ﬁwﬁ%r%mﬁ@rﬁrﬂvﬁﬁ@ﬁﬁmwm

m&mmﬁmwmﬁﬁmmw
TR el g9 I8 qhdll?

(i) u%aeahmwmw:@qgm
| 42| ‘ e |
(i1) vﬁaﬁmwwﬁm@?w
Wﬂﬁsﬁm?}a@ﬁﬁmaaﬁ
geT @7 T TR bRl ’Y

2 :."jltt)ﬂfaﬂﬁmﬁwﬁ'mam-@

Tar el
(iv) aﬁwﬁm&wﬁmmmél

a8 fweq g — )\

447/ Bad (i), (ii) 3R (i) () W(t)aﬁ-\{ (n)

(3) (), (i), (iii) 3R (iv)- ) W(l)
(5) argaiRka wed

Ansvver Kgéi/‘CIlck Here =00
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RS EEEEE—— R —

Constitution of Indl'l ‘No criminal pmceedmgs

S . R
whatsoever ghay) be instituted or continued

against the President in any Court during his
term of office’? .

(1) 361 -B () 361 A

3) 361 (2) (@) 361 (4)

(5) Question not attempted

. Under which of the following Articles of the

Constltutlon of India,

delivered by the Supreme Court save in open
SRR A

(1) 145 (5)
(3) 145 (4)

@ 1452)
- (4) 145 (3) (
(5 Question not attempted

y Match LlSt-I w1th List-IT and select the correct

~answer from the code glven below -

(River) . (Txv'ibu'tary): -
(@ Mahi . .- - (i) NiwajRiver
(b) Kali Sindh ~ (ii) Gambhiri River
(c) Parbati . - (iii) - Anas River
(d) Bedach (iv) - Aheli River
Code - |

() (@)-(ii), (b)-(i), (c)-(iv), (@)-(ii)
() (a)-(ii), (b)-(i), (c)-(iii), (d)-(GV)

@ @)-v), ®)-Gii), (@), -0
@ (a)-(ii), (b)-Giv), (©)-(), ()-GiD)

() Question not attempted

“No judgement shall be

55.;

56.

X

3 69 sy,
54. Under Wluch of the following Atticles of the 54 9Rd % e @ freeread i

2R P =T 3 Rl o TR B
e <iRers = A ST a1 A TE T
weh?

(1) 361 - (2) 361-F

(3) 361(2) . Ntd] 361 (4)

(5) SrgiRa e

ARG @ W @ Freifed § 3 e agmT
_Wﬁ‘é’rw smen?ié’ﬂ

() 145(5) ) 145 (2)
qu 1454) @) 145(3)
() R m?r

_-?ﬁﬁ—laﬁwﬁ—na%wagﬁ%ﬁaﬁw:ﬁ%

ﬁ?ﬁﬂﬁmﬁﬁﬂﬁwmwﬁ—

(¢ uEdR

Gl g i
| (1) (Fers )
| ‘_(?)-q@»@ () Frawr =&

(b)) B R (i) Ty

| (i) SF T
(d) éﬁ 2 (iv) ol 7y
.aza. _ )

M (1) @)-GiD), (0)-G), (0)-(iv), (d)-(ii)

(@) (a)-(id), (b)-(3), (c)-(iii), (d)- -(iv)

r\(3)'(a) @iv), (b)- (1u) (c) (ii), (d)- (1)
(4) (a) -(ii1), (b)-(iv), (©)-Gi), (d)- (ii)
(5) IRIRT woq

bas—Answer Key-Glick Here
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57.

58.

The correct descending order of districts in terms

of wheat production under Rabi Crop in 2022-23

57. o N @ wEa 202223 @ g

‘% . Gl
in Rajasthan was - A Seuras ) gfe 3 Rrelt 31 @) e
(1) Bundi - Chittorgarh - Ganganagar - a1 —

Hanumangarh

(2) ‘Ganganagar - Hanumang

arh - Chittorgarh -
Bundi '

(3) Hanumangarh - Ganganagar - Chittorgarh -

Bundi '(3)'W—Wfﬁ?ﬁw—@

() Hanumangarh - Ganganagar - Bundi - --
Chittorgarh

(5) Question not attempted ©®) : -

Arrange the following peaks of Aravalli range in - . 58- aRTael sfaen @) FrafaRag =@ifeat w1 AP

ascending order according to their heights- . = -~ Sdls B TR SN
. » - \
(A) Dhoniya Dungar ' BTG — _y 31 AT 0
(B) Rishikesh _ (A) &R R ' (Q’él oM T
: (B) ®fawr :

(C) Kamalnath | _ , |

i (C) ®HTATA
(D) Raghunathgarh D) : ‘ ] .' . _a

(M (©), B), D), (A) (2 (A),(C),(B), (D)
(3) D), (A),B), (C) @ (B), (A), (C), (D)

(1) (C), B), (D), (A) 2 (A), (C), (B), (D)
%) (A), (B), (C) (4 (B), (A), (C), (D)

(5) Question not attempted ; (8) IRIRT WA
59. Which of the following statement is not correct?  59. =i # & BT FH W LY 2
- (1) The states of Haryana and Punjab are located (1) SRR @ G?F\’—Qﬁ # sfaron W Yy
‘ in the north-east of Rajasthan, 78 . & o Rerg €1
(2) Rajasthan has greater territorial expan.se than (2) ORI, sTell, Wi, e O I J
~ countries like Italy, Norway, England. A &Ny faR wadr 81 — ‘
(3) Rajasthan is situated between '69°30' to 7{(3) NSO 69°30' A 78°17" uf¥ew W 2,
78°17' west longitude. ’ ) 7 Reg 2 ‘
(4). The Tropic of Cancer passes through two NIC oo LG RTSTRAT 3 31 et § Hpa Toreey
districts of Rajasthan, e =l
(5) Question not attempted s (5) srgERa we
\
OA %= -

Answer Key Click Here
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60. The 80 cm Isohyet g not pass through which of

61.

60. sowaﬁﬂwml"l | LA

64
the following districts? 7 ' Ry § 8T ol 37
(1) Pratapgarh (2) Banswara (1) YaTTTE ' (2) IrFars]
() Bundi 4) Jhalawar ‘ | \—(3)/3135 : () “sremrars
(5) Question not attempted 5 ’ (5) \"ﬂﬁﬁﬂ T

During the Censys 2001-2011, what was the 61- 2001-2011 ST I_' @ &R, 3

change in the density of population of SRRET T ¥ fhaer uRads 9rar Y
Rajasthan? | e | |
RO S ~—17 428 , 2 -32
(1) +28 » 2 32 S
’ s . @ 435
3) 438 @5 . (3) +38_. ik ) +
(5) Question not atterﬁpted - ' (8 srgaRa W

- B2. Road density in Rajasthan as on December 2024 62, ISR ¥ feaR—2024 § OS® g o —

was - -

‘ - (1) 72.66 5. /100 af fFA,
(1) 72.66 km/100 square km. - i '

(2) 81.21 ﬁ;.ﬁr./looaﬁ fa5.A. |
(2) 81.21 km/100 square km. 160 : :

(3) 86.22 f& AL /100 a7 fFAY.
(3) 86.22 km/100 square km.

(@) 92.66 km/100 squarekm. . 9266 ﬁ"’f'-/ 100 s

(®) Question not attempted ~ . (5) srgaia wea '
63. Which of the following are not breeds of sheep? ~ 63- fiferaa ¥ & EﬁTﬂfﬂ T & T ;ﬁﬁ a0

(1) Chokla and Sonadi ' (1) Trder 3R WA \& g

(2) Magra and Kheri ‘ ‘ @ st s

(3) Jamnapuri and Malvi (@) ST SR *Hrerdh

(4) Pugal and Nali ‘ 1 @) g7 3R ey v

) Question not attempted ‘ " () 3rgaRe e
S U

"+ Answer Key'Click Here
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64. Match List-I with List-Il and select the correct 64 -1 3R gA-1 & G o= A9, fad 2

answer from the code given below - | T Tl F QA T SR BT TAT RTT —
(Cement Plant) ' (District) @ @) (Rorem)

(A) Shree Ram Cement (i) Kota (A) FRMm d= (i) rer

(B) ACC Cement " (ii) Chittorgarh (B) TR Wrre iy RrTeTE

(C) Aditya Cement (iii) - Bundi - - (©) anfesr A i) §&

(D) J.K. Laxmi Cement  (iv) Sirohi (D) WP, wfi e iv) RRE

Code- T — |

(1) (A)-Gv), B)-(id), (O)-Gii), (D)-G) (1) (A)-(iv), (B)-(ii), (C)-(iii), (D)-G)

@ (A, B)-Gid), ©-G), D)-Gv) @ A)G), B)-Gi), (i), (D)-(v)

@) (A)-Gi), (B)-(iii), (©)-(@iv), (D)-() S B (A)-Gi), B)-Gii), (O)-(iv), (D)-(i)

@) (A)-(ii), B)-(iv), (C)-(i), (D)-(Gi) - @ (A)-Gii), (B)-(v), (C)-(i), (D)-(ii)

(5) Question not attempted 4 - (5) argaRa e ‘ .

65. Which one of the following (Minerals-Mining 5. fr=ifoRaa (@ﬁm—w &) e #

Area) pair is not correctly 'matcAhed?. R gAfera T &7

(1) Lead & Zinc - Agucha-Gulabpura U SR T — ATAT—TATEYRT

(2) Iron-ore - Nat ki Neri £ (2) dE—er® — 1T B R

(3) Copper - Kho-Dariba o @) dfar — "@—sdEr

(4) Manganese - Kalakhunta - .1y’ (4) e = “BIeIEl N

(5) Question not attempted . ‘ (5) SrgaRa gz _

66. Which of the following characteristics are 66. famiforRag ¥ ¥ FFR fARvad freireer §
. related with cognitive development = in s faera 9 defea 87
adolescence? . g | a1 IRE T FTHATS ifb e
(@) Hypothetical—deductive reasoning ; | @ Prafte ngg@
- (b) Imaginary audience =~ _ (@) R BeTy

(c) Personal fable (6) g NI _—

(d) Object Permanence a8 T BT R BT —

Choose the correct code - ; . (

M) @®&C @ @&@ 0 G100 i L)

@ @, b, O&Q@ @ )& o PR, )-56 o O QLG

(5) Question not attempted | : 7 : (6) SgWRT o

=g

=  Answer K&/"Click Here

—
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p—

i , s & ot 3 P
Which O‘f the following statements are not 67 foreRi P aR® e “
correct with reference to physical development ¥ ¥ B AT il T &
of adolescents? . (@) et ¥ farenRTaeeT, el @I REIR
(a) In boys, adolescence may begin a year or 1 T aqT < af uEel IO Al P

two earlier than in girls. (@) frgiRTaen ¥ @RI BT AR AP 3
() In adolescence the size of larynx is similar srefrar § eI ¢ |
in boys and girls
d gitls. , ﬁﬂmgﬂ'ﬁmqa(ﬁﬁmﬂ)ﬂﬁm
(¢) The secretion of sebaceous gland increasegrmer- ) 3
in adolescence. inﬁif?l R 'ﬁl ﬁ. e
. ¢ .t l Z;Igd; It
(d) Boys and girls reach reproductive maturit)-zI @) it @ .
in adolescence. 3 Ruec TP Ugd o € |
Choose the correct code - &8 He B T DIE — :
MEQ&D @ @&@ WEEE @ ETEE
@ () & ©) 4 (2)& (b) @ (@) @ (@) Cer-@) w (@)
(5) Question not attempted ®) Wﬁﬁ R
68. As per (amended) the ‘Right of Children to Free 68. 'ﬁ:ﬁl‘cﬁé iR T Rem  afeR

and Compulsory Education Rules, 2010’; the

constitution of National Advisory. Council
should consist of - . ’ :
(1) one Chairperson and twelve members

(2) one Chairpersbn and eighteen members

(3) one Chairpersoﬁ and fourteen members

(4) one Chairpersoh and sixteen members

(5) Question not attempted

v, 2010" (FEifRrT) 3 TR AL FeTEan
qﬁwwmﬁwﬁ%ﬂ@ﬁﬁﬁaﬁ@ﬂ—

(1) T areaE iR ARE Wed

(2) T 3reeT 3R ABRE A

\Wmasﬁ?ﬁﬁa‘gw

@) T I IR HEE 9T
(5) rgailRa ue

ﬁwquﬁmwﬁ ' (e1Ee) 3
W%W‘aﬂqﬂﬁawmws}fm

69. Whose responsibility is to supervise the 69.

- academic work of the ‘District Institute

= _,_.;—-—-"":—f!——-;fjf"‘"_ ==

of Education and Training’ (DIET) and provide ARTeee UeH B B IR R 27
educational guidance? (1) ORI WS U <o »L
(1) Rajasthan State Open School (2) STEE I TSAE WIS 39 T

(2) Institute of Advarice Studies in Education

(3) Rajasthan State Institute of Educational

Research and Training * ‘
4) Rajasthah Board of Secondary Education Q'G'W. M Areaffe Rer 9
' (5) IR e

(5) Question not attempted

os-+  Answer Key=Click Here

FL

——
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0. N
70- Jiya lost her legs in an accident. She is now

- (b) Directing - (i)

72,

OA’T-E-.

" (a)Planning @)

~ suitable.’

trying to copy the behaviour of Avani Lekhara,

a I“dlan rifle ShOOter who was gold medalist in

Paralympics 2024. What type of adjustment
mechanism ig adopted by Jiya?

(1) Reaction formation (2) Identification

(3) Projection (4) Rationalization

~ (5) Question not attémpted
71.

Match

educational management with their meaning -

Establlshmg formal

structufe of auihority

Interrelatlng var1ous

: parts of work

© Coordinating‘ (iii)
s ~ thingstobe done

(d) Organizing ~ (iv) Issuing specific- orders

0 ' aﬁd instructions i

Choose the correct code -

M (@)-3ib), (b)-(iv), (C)i-(,ii), @-@)
@) (@)-(id), (b)-(), ()-(iv), (d)-(iii)

@) (@)-@), b)-(ib), (c)-(ii), (d)-(iv)

@) @)-(iv), (b)-(iid), (©)-(), (d) (i)

(5) Question not attempted

70. mﬁw'gdwﬁmt}q@ml?’ﬁ

the following basic functions. of

e o ghfera BIRTT —

Broad outhmng of , v

CLG
ﬂmﬂummaﬁﬁmzﬁmaﬁ |
TH BT B B P @, A

20244 ot g RORT o | R A R TP
B RIS YR AU 87 i
() wRifpar frafor  (2) areTeERT
@) 3y @ shfere e
(5) argxiRa ue '
'mwmﬁmmaﬁmaﬁﬁ

e £ iuaR®
AT w=qfu BRl
ST AP HIRGT FATT
' ﬁﬁ‘a SIRT BAT

ﬂé‘r Be B T ﬁﬁﬂt{ — ,
\Jn/(eﬁ) (i), (9)—~(v), (@)D, (H) i)

@ @)D, @)=@). (@)=Gv), (@)—(ii)

@) @)=, (@)—(i), @)—Gii), @)—Gv)
@) —(v), @)—GiD), @), (€)—Gi)

"'(5)a§ﬂﬁa’ L

‘If the student’s mind is tired, hie is unable to 72 A% faEnsft &1 7 @ gA R, A Fre. 7 -

learn even if the learning envxronment is
This
Secondary Law of Learning as stated by
Thorndike?

(1) Law of Partial Activity

(2) Law of Mental Set

(3) Law of Associative Shifting

statement refers to Wthh

() Law of Assimilation 7 g

(5) Question not attempted

mmawwgaﬁaﬁgwﬁagm:@wl
gl wmmwﬁ@wmmmﬁmm
- oy Hefia wRar 89
(1) iR fobar @1 fam

(2) e fa=m &1 frm

us)“ﬂm?iwﬁaﬁﬁmﬁm

(4) Jrrmvor o1 frm
(5) SraxIRT we

\

Answer K&/ Click Here " F
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73. Teaching Matery

Progray, . al'is prepared for Shiksha V

1

(2) By SCERT under the Je

(2) By Educatlon
of DIET

ani

adership of NCERT

colleges, under the leadership

(3) By Teachers under the Je

schoolg

4
-(4) By DIET a4 other institutions, under the
leaderslnp of SCERT

" () Question not attempted
74.

adership of open

to their ideas ang stu
decision accordingly,
style is known g5 - :
(1) Autocratic style

dy them to take final

(2)- Democratlc style

(4) Delegative style

(3) Bureaucratic style
(5) Question not attempted:

75. Match the following  Chapters of the

of Children to Free and/ Compulsory Educatlon
Act, 2009’ with their names -

' Name of Chapters :
Responsibilities of Schools and Teachers

Duties of appropriate Government Local
Authority and Parents

Protection of right of chlldren ;

(a)
(b)

(©)
(d)
education
Serial No. of Chapters
@ I
(i) IO
(i) IV
Giv) V
v) VI
Choose the correct code - |
(1) (@)-(), (b)-(iii), (c)-(ii), (d)-Giv)
() (a)-(ii), (b)-(iv), (0)-(iii), (d)-(I)
3) (a)-(v), (b)-(i), (c)-(iv), (d)-(ii.)
() (a)-(ii), (b)-(ii), (€)-(v), (d)-(iv)

(5) Question not attempted

This type of Ieadershlp'

‘nght‘ .

73.

»

ﬁmm%@ﬁmmwﬁ%

fepa g - |
M EARE. (NCERT) G
w2 R, (SCERT) &I

(2) e-me (DIET)?# Jgea ¥ Ren el
(S)Egﬁﬁmau‘r?ﬁﬁ’qaﬁf%rmm |

@ vashidamd. (SCERT) & Aqd ¥ o

(DIET) Uf &= eersit gray

(5) araiRa we

W%|mwﬁﬁﬁﬁm%"j
() afrpRE et \@rsadig 3
@) HrwrE dF @ wfaffer e

() argERa e

Curriculum and completion of elementary

J%

75.

(V)
-ﬁl)/(?ﬂ @) (

Pryes @ afed @ RET s
i, 2009° aﬁwﬁr@amaﬁﬂ?
Frr:ﬁﬁ?ﬂ%m?ﬁﬁﬂ?—

faeret sk Rewt & saveg

@ wfm e, EER i
AT & ey -
D B ARDNPR BT
IWMWW@?W%
fbar ST

T B B T

@ I

(i) I

(i) IV

(v) V

VI

HEl BT B %RF{ ?tﬁﬁrw -

(i), ()—(ii), (@)=(iv) -
(2) @EN—(ii), (a)—(IV) (®)=ii). &)—)
(v). ( (l) )-(iv), @)—(ii)

(m) =), {@)-(v)., @)~(iv)
(8) srxifRa '

--------
-----------
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